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PART A: Structure

Dircetions: Choose the word or phrase (1), (2), (3}, or (4) that best completes fhe bank
Then mark the correct choice on your answer sheet.

1-  —e—eeee———-are often heard to say that what they do is lingunisties that happens to bein a
forensic context, and that a forensic linguist must first be a good linguist,
1) That did much ot the ground-breaking work in forensic linguistics
2) Linguists did much ol the ground-breaking work in [orensic linguistics who
3) Linguists did much of the ground-breaking work which is in lorensic linguistics
4) Linguists who did much of the ground-breaking work in forensic linguistics
2- By the 17th century, European scholars realized -------—--—- difficult to capturc accurately

the characteristies of their own languages as well as of languages discovered in explorations
of the New World.

1) fitting languages into the structure of Greek and Latin which was made
2) that fitting languages into the structure of Greek and Latin made it
3) how fitting languages into the structure of Greek and Latin have made it
4) that having fit languages into the structure of Greek and |.atin would be made
3-  ————-—-——- all the wayv from ifs beginning to its present form is appreciating the
difference between vision and hearing.
1) Cssenual L[or (inding the track of language
2) It is essential for finding the track of language
3) Essential for finding the track of language has
4) Since it is cssential for finding the track of language
4-  While semiology might have seemed to be, in some limited twentieth-century intellectual
circles, the final word on the sign and, especially, the human phenomenon of language,

1) work from tweo other perspectives thrived

2) work from two other perspectives which thrived
3) whosc work [rom (wo other perspectives thrived
4y so work [rom (wo other perspectives that thrived
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3-  The period of greatest interest in computational linguistics was from about 1935 to 1965,
—--—--——-—-- would lead to computcrized or mechanical translation involving grammatical
and semantic analysis of sentences.

1) that rescarchers undertook projects that they

2) when researchers that have undertaken projects

3) when researchers undertook projects that

4) during which researchers who undertook projects that

6- It is natural for people to view their own first language as having intrinsic advantages

over languages that are foreign tv them. ---—----—-—----- combined with a consideration of

history reminds us that no language acquires importance hecause of what are assumed
to be purcly internal advantages.

1} Therefore, a scientific approach to linguistic study which

2) Moreover, a scientitic approach from linguistic study 1s

3) [However, a scientific approach to linguistic study

4) Othernwise, a scientilic approach ol linguistic study has

PART B: Written Expression
Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the
sentence to be correct. Then mark the correct choice on your answer sheet.

7-  Recent changes in the criteria for scientific evidences have emphasized the heuristic
1 2
requirements of the scientific method traditionally used in the natural scienees.
3 4
8-  Although it has been fairly satisfactorily determined that the language center is in the left
|

hemisphere of the brain in right-handed people, but controversy remains concerning

2
whether individual aspects of langnage are correlated with different specialized areas of
3 4
the brain.

9-  Many modern schools of linguistics that have been very much concerned with the role of
1
language in society would tend fto relate linguistics more closely to sociology and
2 3
anthropology that to any other discipline.
4
10-  As soon as Sanskrit became known to the Western learned world , the unravelling of
1 2
comparative Indo-European grammarensued, and the foundations were lain for the
3 4
whole 19th-century edifice of comparative philology and historical linguistics.
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11-  When an individual applics langnage in a new way to express hostility or ridicnle, often
1
with sharp wit, he may he creating slang, but the new cxpression will perish
2 3
unless it is not picked up by others.
4
12- Language is a part of culture, but culture is a complex totality containing many
1 2

different features, and the boundaries between cultural features are not clear-cut, nor
3

they all coincide.
4

PART C: Yocabulary
Directions: Choose the word or phrase (1), (2}, (3), or (4} that best completes the blank.

Then mark the correct choice on vour answer sheet.

13- When 1 looked at the sculpture up close, [ saw a few --—-----—--—— bhlemishes and realized
the art was not perfect.
1) invincible 2) campatible 3) discernible 4} convertible

14- 'There is no doubt that most of the hillionaire’s ------------- comes from people who are
simply after his moncy.
1) saturation 2) coronation 3) adulation 4) trepidation

15- Jeremey seems to have found the secret of perpetual vouth, and we all hope that he will
long continue to demonstrate this vouthful ------------- ;
1) vivacity 2) sagacily 3) Lenacity 4) perplexity

16- The very purposc of segregation was 0 -—---—--—-—- people of color and to declare them
unfit to share facilitics with whitcs.
|) stigmatize 2) epitomize 3) subsidize 4) tantalize

17- His share of what we have obtained is, after all, but trifling for a{n) ---------—-- man who
cherishes a grudge against you, and desires the whole.
1) salubrious 2) ludicrous 3) avaricious 4) obsequious

18- As a nation’s wealth is the social worth of its capital assets, it is a measure of the nation’s

—————

1) relicence 2) opulence 3) adherence 4) quinicssence
19- This book offers a distillation of that rescarch, within a cogently constrocted and
—--—--——-—- (locumented overall argument.

1) viscously 2) zealously 3) copiously 4) ominously

20- If the c¢riminal wants to get his sentence reduced, he must agree to -—--------—-- his
accomplice’s whercabouts,
1) hoard 2) divulge 3) capsize 1) enervate

21- The prime minister’s proposal for new taxes created such a{n) ---—---—--—--— that his
government fell.
1) uphcaval 2) prolrusion 3) allegiance 4) congregalion

22-  (hesity is partly duc to inappropriate nutrition and partly to a ----------—- lifestyle that
docs not invelve any physical effort.
I) tractable 2) poignant 3) scdentary 4) prodigious

moshaveranetahsili.ir



moshav%gnetahsili.ir

PART D: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
cach space. Then marvk the correct choiee on your answer sheel,

With a growing interest in heritage languages from researchers of bilingualism and
linguistic theory, the field of heritage-langnage studies has begun to build on its
cmpirical foundations, moving loward a deeper understanding of the nalure of
language competence under unbalanced bilingualism. In (23) —--—----—-- ol this trend,
the current work synthesizes (24) ---mmmmeeaam- cmpirical obscrvaiions and theorcetical
claims about {25) -------mmm--- and robust areas ol herilage language compelence into
early steps toward a model of heritage-language grammar. We highlight two key
triggers for deviation from the relevant baseline: the quantity and quality of the input
(26) —=--mmmmmme- the heritage grammar is acquired, and the economy of online resources
(27) ~mmmmmmmmmmme in a less dominant language. In response 1o these triggers, we identily
three oulcomes of deviation in the heritage grammar: an avoidance of (28) ——m-meememe-- 3
a resistance to irregularity, and a shrinking of structure. (29) ---------——-- we are still
away from a level of understanding that allows us {30) ------------- those aspects of
heritage grammar that will be robust and these that will deviate from the relevant
basclines, our hope is that the current work will spur the continued development of a
predictive model of heritage language compelence,

23- 1) indulgence 2) coincidence 3) subsistence 43 furtherance
24- 1) adjacent 2) pertinent 3) imminent 47 resilient

25- 1) vulnerable 2) cogmzabhle 3) indomitable 4) lamentable
26- 1)inthat 2) which 3) wherein 4) from which
27- D) il operated 2) have operated 3) when operating 4 are operaling
28- 1) ambiguitly 2) reciprocily 3) proximity 4y intelligibility
29- 1) Despite 2) While 3) Whether 4) Even so

30- 1) predict 2) predicting 3) to predict 4) for predicting

PART E: Reading Comprehension

Directionis: Read the following two passages and decide which choice (1), (2), (3), or (4} best
answers each question. Then mark the correct choice on vour answer sheet.

PASSAGE 1:

A point that all writers defining corpus linguistics agree upon is that corpus linguistics s
cmpirical, in that it examines, and draws conclusions from, attested language use, rather
than intuitions. This 15 nol 1o say that ntuitions play no rolc in corpus linguistics, bul
that they do not provide the dala [or analysis, and do nol supersede the empirical
evidence. Also. as a rule. corpus linguistics examines samples, however large. of
language use, as it is typically impossible to capture the entirety of & language in &
corpus. Yet corpus linguistics can examine entireties 1f. for example, the corpus content
is limited in terms of one or more of the following: authorship, topic. and date of
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publication. For example. it is feasible to build corpora containing the entire work of a
novelist, or the text of a newspaper over a period of time.

Another central characteristic of modern corpus linguistics is the use of computers: in
lact, the lerm “corpus linguislics™ is now synonymous with “computer corpus
linguisiics”™ (c.g. Leech 1992: 106}, Ilunston makes cxplicit the dual lunction of
compulers in [acilitaling the collection and storage of large amounts ol language data,
and in enabling the development of the sottware that is used to access and analyze the
corpus data. The pivotal role of computers in corpus linguistics 1s such that corpus
linguistics has alsc been defined as a branch of computational linguistics {e.g. Oostdijk
1991: 2). The benefits of the use of computers in corpus linguistics are substantial.
Computers and software programs have cnabled rescarchers to colleet, store and manage
vast amounts ol data relatively quickly and inexpensively. Data analysis and processing
1s fast and, in many instances, automated. The use of computers “gives us the ability to
comprehend, and to account for, the contents of . . . corpora in & way which was not
dreamed of in the pre-computational era of corpus linguistics™ (L.eech 1992: 106).
Automated processes also allow for the replicability of studies, and the checking of the
glatistical reliability of resulls,

Alihough corpus linguisiics docs nol downplay the importance ol the qualitative
interpretation ol the data {e.g. Mair 1991). 1l does, nevertheless, have a strong locus on
quantitative information. that is. frequency counts and statistical imeasures. The absolute
and relative frequency of linguistic items features heavily in most. if not all, corpus
stuglies. Statistical information based on the frequency of occurrence of language items
is at the heart of probabilistic accounts of language (c.g. Lalliday 1991).

Which of the following statements is TRUE?

1) There is no room for qualitative data analysis in corpus linguistics.

2) Corpus linguistics extensively deals with observable language data.

3) There is no sense to equate corpus linguistics with computer corpus linguistics.

4) On many occasions, miuitions can lake the place ol cmpirical dala in corpus

linguistics.
According to the passage, corpus linguistics can examine entireties if the corpus content
is limited in terms of all of the following EXCEPT ---—--—-—--,
1) topic 2) authorship
3) date of publicalion 4) place ol publication
The word “substantial” in paragraph 2 is similar in meaning to -----------——,
1} significant 2) inevitable 3) perpetual 4) prevalent

Which of the following statements is supported by OQostdijk?

1) Corpus linguistics is a branch of computational linguistics.

2) Probabilistic accounts ol language heavily draws on slatistical information.

3) The dual function ot computers in collecting large amounts of language data and in
development of relevant software in analyzing them should be noted.

4) The nse of computers offers the ability to comprehend corpora in a way which was not
drecamed of in the pre-computational cra of corpus linguistics.

Which of the following best describes the tone of the passage?

1) Realistlic yeu sarcastic 2) Critical vel oplimistic

3) Objective and unbiased 4) Skeptical and questioning

moshaveranetahsili.ir



YV dociuo

moshav%gnetahsili.ir

36-

PASSAGE 2:

‘The question of the “inferiority™ of the vernacular languages was a much labored
Renaissance debaling point. Bul & much more mundane, practical problem was
foremost in the mind of the first nglish printer, What most worried Caxtlon was the
fact that English. unlike Latin., had no recognized common usage. It varied
considerably [rom one part ol the country (o another, causing practical dillicultics of
evervday communication, as Caxton’s anecdote about the merchant who wanted eggs
Hlustrates. To put this problem in its historical perspective. one must remember that
when Chaucer, whose works were among (hose which Caxton printed, wroic
1he Canterbury lales. the language of government in lLondon was still officially
French. Henry V. who defeated the French at Agincourt (1415). was the first English
king since the Norman Conquest {1066} 1o use English in his olficial documents, and
Caxton was probably born about the year of llenry’s death. So the century in which
Caxton set up the first printing press in Westminster (¢. 1476) was the first century in
which the Tnglish language in Fngland was no longer in competition with French,

Althengh Caxton specifically addresses the problem of linguistic variation in
Lnglish, and ollers ihe quaint explanation thai the English arce destined o linguistic
vacillation because they are born under the sign of the moon, he would have been
unchservant not to notice in the course of his long residence on the Continent that
131th-century French was no more unilorm than 13th-century English. Every couniry in
Furope was a linguistic patchwork of dialects, and would remain so for many
generations after Caxton’s death.

The lack ol unilormity in English usage posed in [act more than enc problem [or
Caxton. In a country where some people say egges but others say evren, and those who
say one do not understand those who say the other. it 18 a problem for any publisher
who wishes 1o scll books 1o as many people as possible lo know which among the
conflicting dialects will be most widely understoed. But even (f that problem is
soluble, there is a further question to be faced; namely, how to spell the dialect you
have chosen 1o print, given that there i no aceepled assignment ol letiers ol the
alphabet to the various competing dialectal pronunciations.

What problem was Caxton faced with?

1) English had no recognized comimon usage.

2) Why the English are born under the sign of the moon.

3) Why L 5th-century I'rench was no more unitorm than | Sth-century English.

4) The “inferiority™ of the vernacular languages was a much labored Renaissance.

Which of the following statcments is TRUE?

1) Caxton was nol interested in publishing Chaucer’s works.

2} Caxton was born long before 1lenry V., who defeated the I'rench.

3) Caxton recommended Henry V that he use English in his official documents.

4) When Caxton set up the [rst prinling press, Lnglish was no longer in competilion
with French.

The passage supplics sufficient information to answer which of the following questions?

I. What was Caxton’s anecdote exactly about the merchant who wanted eggs?

IT. When did Chaucer write The Canferbury Tales?

IT1, When were the French defeated at Agincour(?

1) Only I 2)Land II 3) II and III 4) Only III
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44)-

41-

42-

43-

46-

47-

Which of the following can be inferred from the passage?

1) Caxton solved the problem of assigning the letters of the alphabet to the various
competing dialectal pronunciations.

2) Caxton was worried about the profit he would make through selling books.

3) Caxton got the idea of printing books while talking 10 English mcrchants.

4) Caxton was in [avor ol people who would sav cgges.

Where doces the tollowing sentenee best fit into the passage?

But Caxton’s obscrvation is of historical signiticance because, for the first time, this is

seen as a problem.

1) End ol paragraph 1 2) IEnd of paragraph 2

3) End of paragraph 3 1) After the first sentence of paragraph 1

Linguistics:

Which of the following sentences is NOT functionally ambiguous?

1)y The man on the corncr is wearing a heavy jacket.

2) I will take care ol this more than vou.

3) Visiting professors can be boring.

4) 1 need a criminal lawyer.

Which of the following words is made through the process of blending?

1) RAM 2) Techie 3) Netizen 4) Download

All of the following are features characterizing individuals suffering from conduction

aphasia EXCEPT that -=--=e--=---- %

1) they sometimes mispronounce words but typically do not have articulation problems

2) they produce agrammatic speech in which the grammatical markers are missing

3) they are fluent but may sufter from disrupted rhythim because of pauses and hesitations

4} what they hear and understand cannot be transterred very successtully to the speech
prochuction area

The way of writing in which a pictorial representation of an object is used to indicate the

sound of the word for that ohjeet is called -----—-——---- writing.

1) rebus 2) syllabic 3) pictographic 4) phonographic

Which of the following definitions describes the phenomenon of assimilation?

1) Constraints on the permissible combination ol sounds in a language

2) A pull of air that sometimes accompanics the prenunciation ol a stop

3) The process ol leaving out a sound scgmenlt in the pronunciation ol a word

4) The process whereby a [eature ol one sound becomes part ol another during speech
production

Which maxim does the speaker seem to be caretul about in the following sentence?

I may be mistaken, but [ thought 1 saw a wedding ring on his finger.

1) Relevance 2) Quaniity 3) Quality 4) Munncr

Which of the following defines a creole?

1) An aspect of the grammar, vocabulary and prenunciation of a varety of a language,
in contrast to accent

2} A variety of a language that developed from a pidgin and is used as a first language
by a population ol native speakery

3) A sitwation where there is a “high™ or gpecial varicly ol a language used in formal
situations, and a *low™ varicly uscd locally and inlormally

4) A conventional way ol using language thal is appropriaie in a specilic silualion,
cccupation or topic. characterized by the use of special jargon
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48-  All of the following pairs are reversives EXCEPT - .
1) enterfexit 2) fill iempty i
3) fair/unfair 4) appearidisappcar
49-  Which pairs of sounds below are called liquids?
1) [b] und [d] 2) [m] and [n] 3)[1] and [r] 4) [w] and [j]
50- ---—--—--—--is a property of language that allows users to create new expressions.
1) Recursion 2) Conversion 3) Reduplication 4) Open-endedness
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